[image: image1.png]Three discrete speciral lines occur at angles of 10.09°,
18.71°, and 14.77° in the first-order spectrum of agrat-
ing spectroscope. (2) K the grating has 3 660 slits per
centimeter, what are the wavelengths of the ligh?

(b) At what angles are these lines found in the second-
order spectrum?




[image: image2.png]A diffraction gratng has 800 rulings per muiimeter.

A beam of light containing wavelengths from 500 to
700 nm hits the grating. Do the spectra of different or-
ders overlap? Explain.




[image: image3.png]A diffraction pattern is formed on a screen 120 cm away
from a 0.400-mm-wide slit. Monochromatic 546.1-nm
light is used. Calculate the fractional intensity I/ ]y at a
point on the screen 4.10 mm from the certer of the
principal maximum.




[image: image4.png]The second-order bright fringe in a single-slit diffrac-
tion pattern is 1.40 mm from the center of the central
maximum. The screen is 80.0 cm from a slit of width
0.800 muD. Assuming that the incident light is mono-
chromatic, calculate the light's approximate wave-
length.




